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aiFre |eTE 10°CHERBER R o [mama [T 10°CHE#BRE| 35
” ZE(0) BE - EE(m/s) Bk (mm) Lz o %&(0) A - EE(m/s) Kk & (mm) Lz
T | BE | BE | T8 | B2 | BA | BA | BE | &A@ | B3 | 1858 ] 105 | () T | BE | BE | | B2 | BA | BA | BE | &A@ | B3 | 1858 ] 105 | ()

11 7.2 15.7 0.5 1.3 NNW 3.4 NW 7.1 NNW 0.0 0.0 0.0 49 11 12.3 18.4 6.8 2.2 N 5.4 NE 791 NNE 0.0 0.0 0.0 5.4
12 8.9 13.7 3.8 3.0 NW 5.1 NW 11.2 NW 0.0 0.0 0.0 6.1 12 12.3 17. 6.0 3.3 NE 851 NNE 15.8 NE 0.0 0.0 0.0 6.8
13 6.2 15.7 -1.0 2.0 NNW 4.3 NW 8.2 W 0.0 0.0 0.0 9.0 13 10.2 16.0 4.2 3.3 N 10.0 N 17.6 N 0.0 0.0 0.0 8.6
14 3.7 7.0 -0.1 3.3 NW 6.0 NW 14.2 NW 0.0 0.0 0.0 4.6 14 7.6 11.8 3.3 4.0 NNE 89 NNE 16.9 NE 0.0 0.0 0.0 6.4
15 0.1 3.2 -2.2 3.5 NW 6.7 NW 15.7] NNW 0.0 0.0 0.0 5.8 15 3.9 7.9 -1.3 2.7 NNE 8.3 NNE 15.5 N 0.0 0.0 0.0 8.2
16 0.2 3.6 -2.3 3.5 NW 5.3 NW 13.0f NNW 0.0 0.0 0.0 2.8 16 3.5 9.2 -2.4 2.3 NNE 8.0l NNE 13.8 N 0.0 0.0 0.0 7.9
17 0.8 6.7 -4.0 2.7 NW 4.9 NW 9.4 NW 0.0 0.0 0.0 8.9 17 3.8 10.0 -2.7 3.0 N 6.5 N 11.4] NNE 0.0 0.0 0.0 8.7
18 1.7 9.3 -55 2.4 NNW 5.2] NNW 8.9 N 0.0 0.0 0.0 7.8 18 6.5 12.2 -0.9 3.2 N 8.2 N 11.6 N 0.0 0.0 0.0 8.1
19 3.5 7.8 -1.9 3.0 NW 6.1 NW 11.0 NW 0.0 0.0 0.0 5.4 19 8.0 11.9 45 4.1 NNE 8.5 NNE 14.9 ENE 0.0 0.0 0.0 5.7
20 1.8 7.4 -3.4 2.8 NNW 5.4] NNW 10.8] SSWwW 0.0 0.0 0.0 7.9 20 5.9 11.3 0.2 2.9 N 5.8 N 10.9] NNE 0.0 0.0 0.0 8.2
EIES30)] 5.2 11.1 0.2 2.6 NW 0.0 30.4 EIES30)] 9.3 14.3 3.8 3.1 N 0.0 35.4
[C-E 261 1.6 7.0 -3.4 2.9 NW 0.0 32.8 ®“¥q 5.5 10.9 -0.3 3.1 N 0.0 38.6
[ 3.4 9.0 -1.6 2.8 NW 0.0 63.2 ] 7.4 12.6 1.8 3.1 N 0.0 74.0
SFEE/E -1.8 -2.4 -1.6 0 146 SFEE/E -1.9 -1.8 -3.1 0 136
BHFE |EH 0CHtEERE] o] [EuFme |Z@ 10°CHEBRR| 22
ot ZE(0) BE - EE(m/s) Bk (mm) Lz o Z&(0) A - EE(m/s) Kk & (mm) Lz
T | BE | BE | T8 | B2 | BA | BA | BE | &A@ | B3 | 1858 ] 105 | () T | BE | BE | 8 | B2 | BA | BA | BE | &A@ | B3 | 1858 ] 105 | ()

11 5.5 13.9 0.4 0.6 W 2.2 SSwW 6.5 SSW 0.0 0.0 0.0 2.8 11 10.8| 18.0 5.6 1.5] WSW 3.0 WSwW 4.9] WSW 0.0 0.0 0.0 5.0
12 5.7 11.8 -0.8 0.8 ENE 3.2 WSw 7.6 NW 0.0 0.0 0.0 3.3 12 11.4 17. 5.1 1.5 W 5.2] WSW 9.0 W 0.0 0.0 0.0 8.3
13 3.3 13.4 -2.6 0.7] WSw 2.7 SSwW 75 SW 0.0 0.0 0.0 7.0 13 8.9 15.8 3.2 1.8 W 3.4 E 5.2 ESE 0.0 0.0 0.0 9.4
14 1.2 4.8 -2.5 1.3 ENE 2.4 ENE 1.7 NE 35 2.5 0.5 1.3 14 7.6 11.1 2.5 3.6 W 7.3 WSw 12.4] WSW 0.0 0.0 0.0 6.0
15 -2.1 0.9 -4.4 1.3 ESE 3.6] SSW 9.4 S 0.0 0.0 0.0 3.2 15 3.3 8.2 -0.4 2.4 W 6.6] WSW 13.7 W 0.0 0.0 0.0 8.5
16 -1.8 0.6 -4.6 1.5 ENE 3.4 ENE 9.6 SW 0.0 0.0 0.0 0.3 16 3.5 8.8 -1.1 3.3 W 7.1 WSw 13.0] WSW 0.0 0.0 0.0 7.6
17 -2.71 3.71 -5.9] 0.7] NE] 2.1]1f sswi] 5.1]f SSw] 0.0] 0.0] 0.0] 2.0] 17 3.5 9.8 -0.6 1.3 W 4.4 WSW 7.2 SW 0.0 0.0 0.0 9.3
18 -0.5 7.1 -7.1 0.9] wWsSw 3.7 SSw 8.4 SW 0.0 0.0 0.0 5.7 18 5.5 12.0 -1.4 2.1 wWSw 5.3] WSW 9.8 WSw 0.0 0.0 0.0 8.1
19 0.7 5.2 -4.6 0.9 ENE 2.4 S 79 SSw 0.0 0.0 0.0 2.8 19 7.2 12.8 1.7 2.6 W 5.4] WSW 9.4 WSW 0.0 0.0 0.0 5.8
20 -0.7 4.5 -5.8 0.7 ENE 3.3 SSw 7.2 SSW 0.0 0.0 0.0 6.5 20 5.2 11.2 0.0 2.5 WSw 5.4 W 8.7 WSWwW 0.0 0.0 0.0 8.6
EIES30)] 2.7 9.0 -2.0 0.9 ENE 3.5 17.6 FIESGH] 8.4 14.2 3.2 2.2 W 0.0 37.2
#“¥a| -0.6) 4.4)] -5.5) 1.0)| ENE) 0.0) 17.3) [C-E 2561 5.0 10.9 -0.3 2.4 W 0.0 39.4
A 1.3) 6.9)| -3.6) 1.0)] ENE) 3.5) 34.9) A 6.7 125 1.5 2.3 W 0.0 76.6
SEEE/E -2.1 -2.1 -2.5 14 116 SEEE/E -1.6 -1.7 -1.7 0 128
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BHHFRE |B@E 10°CU LTEESE 22 #URFRE 1P 10°CU LTEESE 0
B4 Sua(C) e - EE(m/s) 7k E(mm) B B ZUa(C) A - EE(m/s) f% 7Kk & (mm) HE
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) T | &m | ®E | | &% | &K | BAE | BE | BE | BF | KB 105 | (h)

11 1.1 17.1 55| 0.9 wl 22 E| 5.0 w[ ool 00| 00 41 11 77| 165 06| 03] SSE 1.9 S 3.1 E| 00| 00 00 3.8
12 11.2] 191 41 1.3 wNw| 34 N 81| wnw| 00| o0o0f 00| 76 12 81| 175 1.1 0.4] SSE[ 3.0 s| 75 ssw| o0 00| 00 5.6
13 9.1 16.1 3.3 1.3 wsw 3.6 wl 7.4 wsw| 0.0 o0 00| 87 13 5.1 17.6] -2.4] 04| SSeE| 24| SSe| 5.1 ESE| 0.0 00 00| 82
14 77| 112l 35| 26 wnw| 49| wNnw| 119 NNw[ 00| 00 00 5.7 14 43| 115 -1.8] o6 NNw| 29[ NNW| 73 N 00| 00 00 5.9
15 35| 85| -1.3 1.7 Nw| 43| Nw| 106 wl oo 00| 00 79 15 0.1 71 -44] 05 s| 28] ssw|f 91| sw| 00| oo 00| 7.3
16 28] 9.0 -29 13 Nw| 48] N~Nw| 110/ Nw|[ 00| 00 00| 80 16 -04] 75 -61 0.8 SE| 3.4 NNE| 117 N 00| 00 00 6.4
17 3.0 112 -2.1 1.1| wsw 3.0 WSW 6.7] wsw| 0.0 00 00| 87 17 -0.6] 104 -69| 04| SSE| 20 S 5.0 N 00| 00 00| 81
18 53 13.0] -0.1 1.5 w[ 29| wsw 6.3 w[ 00| 00 o0 70 18 00| 122 -76] 03 S 1.7] SSE| 34 SE|  o00f 00| 00 5.9
19 6.7 122 04 1.7 wl 44 wNnw| 100 Nw| 00| 00| 00 47 19 23| 115 -35] 04| NNW| 2.7 SE| 5.0 SsSe| 00| 00| oo 47
20 52 124] -1.7 1.3 w[ 32 wsw| 73] nNw| o0 00| o00f 78 20 04| 110l -58] 04 ESE| 23| sSSE| 49| sse[ 00| 00 00 75
FIESG) 85| 144 3.0 1.6] WNW 0.0 34.0 IR 5.1 14.0| -14] 04| SSE 0.0 30.8
st 46| 116 -1.3 1.4 w 0.0 36.2 ES20) 0.3 105 -6.0[ 05 S 0.0 32.6
G| 6.6 13.0] 09 1.5 W 0.0 70.2 a 27 123 -37] 05| SSE 0.0 63.4
FEE/ 20l -16] -28 0 124 FEE/ 25 11 -31 0 132
AL |ERR 10°CU LTEESE 0) A2 |=6 10°CU L TEESE 22
B4 Sua(°C) e - EE(m/s) 7k E(mm) AR B4 ZUa(C) A - EE(m/s) f% 7Kk & (mm) HE
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) T | &m | &E | | &% | &K | BAE | BE | BE | BF | IKE | 105 | (h)

11 8.1] 16.0 1.9 04 S 54|  NE| 84 NE| 00| 00| 00 3.1 11 11.2| 177 47 1.0 NNW 1.9 SEl 38 sw| 00| 00 o0 45
12 87| 16.8] 34| 09 ENE|] 53 NE[ 9.0 NE[ 00| 00 00 5.7 12 11.2] 183 3.8 1.2| NNwW| 32| ESE| 5.9 s| oo o0 o0 73
13 6.1 16.0] 0.0 05 ssw| 27 sw 51 sw| 0.0 00 00 5.6 13 85| 16.0 1.1 1.4 NNW 3.4 SSE| 61| ESE[ 00| 0.0 00 83
14 57 102 1.0l 23 E| 6.1 NE[ 121 NE[ 00| 00 o0 45 14 80| 122 26| 2.1 wNnw 5.0 wnw| 7.8 Nw| 00| 00| 00 1.3
15 1.4] 621l -07]] 1.8]] NE]| 431 NEe]| 871 NNE]| 0.0l o0.00] 0.0]] o0.8] 15 36| 95| -2.1 1.8 WNw 3.9 E| 63 E| 00| 00 00| 88
16 23| 7.1 -24| 28 NE[ 7.6] NE| 15.9] NNE| 00 00| 00 44 16 1.7 105| -4.1 1.4 NNW| 5.9 wNw| 116 NNw| 00| 00| 00| 9.0
17 1.2 88| -3.1 0.9 NE| 4.7 NE| 9.7 NNE[ 0.0 00| 00 6.0 17 1.7] 98| -51| 13 N 3.3 E| 56 E| 00| 00 00| 95
18 1.9 106 -47] 09 NE[ 44| NE[ 82 NE[ 00| 00 00| 40 18 46| 128 -29 1.4] WNW|  3.6] WNwW 5.4 wsw| 0.0 o0 00| 7.1
19 44 101 -1.9 1.5 NE| 54| ENE[ 109 ENE| 0.0 00 00 3.9 19 78] 132 26 1.8 WNw 3.3] WNW 57| wNnw| 0.0 0.0 00| 41
20 15 91| -37 o7 NE[ 3.8 NE[ 6.6 NNE[ 0.0 00 00 60 20 49| 113 -17 1.7] wnw| 3.4 ESE| 6.0 w[ 00| 00 00 89
aia| 7.2)| 14.8)| 1.6 1.0 ENE) 0.0) 19.7) FIEG) 85| 147 2.0 1.5 WNw 0.0 30.2
st 23] 91| -32 1.4 NE 0.0 24.3 ES20) 41 115 -2.2 1.5 wWNw 0.0 38.6
al 44| 116)] -1.1)] 12| NE) 0.0) 44.0) ) 6.3] 13.1] -0.1 1.5 WNw 0.0 68.8
FeEE/ -1.8]  -1.1] -24 0 126 FeEE/ // // // // //
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(3/5)

#VRIFRE | DA 10°CU L EERR 0 R |BEE 10°CU L EERR 22
a4 SR(0) A - AE(m/s) %7k & (mm) =i B SUR(C) Ar@ - AE(m/s) f% 7Kk & (mm) =k
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) Y &e | &E | Y | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h)

11 8.4 16.1 12| 12 w| 43| NNw| 7.9 NNw[ 00| 00 00 38 11 11.1] 184 40| 13 w| 26| ESE| 44| ESE[ 00| 00| 00 44
12 86l 153 29 20 w| 7.8 NNw| 122 N| 00| 00| 00| 71 12 112 192 39 16 wnw| 51| ESEl] 74| ESE| 00| 00 o00f 70
13 70 166 09 15 wsw| 59 wsw| 96| wsw| 00 0o oo 80 13 81| 172 14| 17 ~Nw| 46| SSE| 65| SSE[ 00| 00 00 84
14 52 89| 20| 39 w| 81| Nw| 141 w| 00| 00| 00| 29 14 6.8)[ 12.0] 1.4]] 3allwNw)| 9.8]|wNw]| 13.6]|WNWI| o0.0][ o0.0][ o0.0]f 2.1]
15 22| 56| -04] 41 w| 8o Nw| 133] Nw|[ 00| 00 00 76 15 42| 102 -1.7] 24 w| 5.4 wnw| 84| Nw|[ 00| 00 00 87
16 25 69 -11] 38 w| 9.0 NNw| 15.2] NNw| 00| 00 o0o0f 5.2 16 3.1 103 -34] 32 n~Nw| 99 Nw| 160/ NNw| 00 0o o0o0f 91
17 20 81 -31] 27 wnw| 66| wNw| 101 wNw| 0.0 0.0 00 96 17 21| 110l -4.2| 18] Nw| 42| ESg| 70| ESE[ 00| 00 00 95
18 27 100 -a3] 21| NNnw|  6.3] NNW| 96 N| 00| 00| oo 55 18 36| 131 -40] 14 w| 3.2 E| 53] ESE| 00 o0 o0 70
19 5.4 94| -03] 2.8 wnw| 6.9 wNw| 11.9 Nl 00| 00| 00| 49 19 6.4 130 00| 1.7 wnw| 40f ENE|] 7.0 NNwW| 00| 00| 00| 42
20 33 92| -13] 22 w~Nw| 52 Nnw| 91| wnw| 00 00 o00f 90 20 3.4 129 -36] 17 Nw| 42| ESE|] 58 E| 00| 00 o0 92
aika| 63| 125 13[ 25 W 0.0 29.4 frEa| 83| 16.3) 1.9 1.8)|wWNw) 0.0) 30.6)
meg| 32| 87| -20 27 Nw 0.0 34.2 w2g| 37| 1212] -3.0 20/ Nw 0.0 39.0
a| 471 106] -03] 26 W 0.0 63.6 Al 6.0 139 -08)]| 1.9 Nw) 0.0) 69.6)
Fax/ | -17] -19] -13 0 152 Tax/ | -23] -1.0] -34 0 127
BRI |k 10°CU EEERR 21 BHRFFE |2 10°CU EFEE SR 36
a4 SR(0) A - AE(m/s) %7k & (mm) =i B4 SUR(C) Ar@ - AE(m/s) f% 7Kk & (mm) =k
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) Y| &e | &E | Y | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h)

11 109 17.1| 46| 2.6 wnw| 52| wnw| 80| NNw[ 00| 00 00| 48 11 12.3] 186)| 61| 26| wnw| 47 |wNw)| s7)]wNw)| 00| 0o 00| 48
12 105 15. 5.1] 35| wnw| 55 Nw| 140 wnw| 00f 00l o0 7.2 12 132 193] 87 37| wnw| 7.2 w| 105| wsw| 00| 00| 00 84
13 93| 16.8] 44| 3.1 wNw| 6.7 w| 102 w| 00| 00 00| 79 13 10.6] 166 49 27 wnw| 50| Nw| 7.3] ESE[ 00| 00 00 90
14 56| 84| 18] 38 wnw| 7.4 wNnw| 142 wnw|[  00f 00| 00| 5.9 14 8.4l 113 43| 52 w| 84 w| 13.0 w| 00| 00| 00| 19
15 22| 54 -04] 37[ wnw| 73] wNw| 146 w| 00| 00| 00| 85 15 52 9.6 23] 53 w| 83 w| 123 w| 00| oo oo 91
16 26 69 -07 40l n~Nw| 86| NNw| 15.6] NNw| 00 00 o0 66 16 48[ 112 -05] 38 w| 104| wnw| 14.3] wnw| 00| 0o oof 96
17 27| 80| -12| 29[ wNnw|  47[ wnw| 100 wNw| 00| 00 00| 94 17 46| 113 -10] 250 wNw| 5.6 w| 8o wsw| 00| o00f 00 97
18 48[ 105 -11] 33 n~Nw| 59 Nnw| 108] NNw| 00 00 o0of 63 18 6.1] 136] -17] 31| wNnw| 57 w| 90| wsw| 00| o0 o0 68
19 59 9.2 18] 37 wnw| 58 waw| 11.2[ wnw| 00 0.0 00| 41 19 81| 123 29| 33 wnw| 6.9 w| 100 wsw| 00| 00 00| 35
20 43 87 19 35 wnw| 5.6] wnw| 105 w| 00| 00| 00 90 20 5.4 128 -16] 2.7 wNw| 6.1 w| 8.6 w| 00| 00| 00 91
mixa|  7.7] 126 31| 3.3] wNnw 0.0 343 aia| 99| 151 s53[ 3.9 W 0.0 33.2
weg| 41l 87| 01 3.5 WNw 0.0 35.4 mam| 58 122 -04 3.1 WNW 0.0 38.7
A 59 106 1.6/ 3.4 WNW 0.0 69.7 Al 79 137 24 35| wnw 0.0 71.9
Fax/ | -18] -19] -18 0 140 Tax/ | -14] -10] -21 0 121
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(4/5)
#HAFRZ |HE 10°CU LTEESE 24 BRRE  |RL 10°CU LTEESE 37
B4 Sua(C) e - EE(m/s) 7k E(mm) B B ZUa(C) A - EE(m/s) f% 7Kk & (mm) HE
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) T | &m | ®E | | &% | &K | BAE | BE | BE | BF | KB 105 | (h)
11 11.8| 184 47 1.6 W 3.2 WNW 5.6 WNw| 0.0 00 00 5.0 11 12.6] 17.8 6.0 3.1 W 52| WNw| 7.2 WNw| 00| 0.0 0.0
12 11.8] 18. 6.7 25 wsw| 48] wsw| 89 w[ 00| 00 o0 71 12 13.3] 19.4 83| 45| wnw| 8.0 w[ 103 w[ 00| 00 00
13 96| 16.1 35 1.9] wWsw 3.7 sw| 49 sw| 00| o00f 00| 85 13 11.0] 16.7 5.5 3.8 WNW| 88 w| 103 w| 0.0 00 00
14 71| 108 28] 38 w 5.9 w[ 11.4] wNnw| 00| 00| 00| 28 14 82| 11.1 3.7 6.9 w[ 115 w[ 139 w[ 00| 00 00
15 35| 7.3 1.2 3.9] WSW 6.3] wsw| 11.2[ wsw| 00| 0.0 00 84 15 49 9.6 1.4 72 wl 10.1] wNw| 13.9 w[ 00 00| 00
16 33| 89 -19] 27 wnw| 65| wnw| 136 wNw[ 00| 00 00| 92 16 49| 11.1 0.2 5.1 w[ 95 Nw|[ 139 wnw| 00 00| 00
17 3.4 100| -1.4 26| wsw| 44| wsw| 87| wsw| 0.0 00 00| 94 17 51| 116 03| 46 W 6.7 wl 87 w[ 0o 00| 00
18 56 121 -16] 2.7 wsw| 49 sw| 9.0 w[ 00| 00 00 6.2 18 71| 135 1.0 5.0 w[ 75 wsw| 98] wsw| 00 00| 00
19 7.1] 107 3.0 3.0 WSW 5.0 w| 102 w[ 0o 00| 00 3.6 19 83| 122 3.9 5.9 w| 86 w| 103 w| 0.0 00 00
20 47| 111l -09] 28] sw| 47| sw| 79 wsw|[ 00| 00 00 90 20 6.2 125 02 48 wl 83 w[ 108 wl 00| 00 00
FIESG) 88| 14.1 38|  2.7] wsw 0.0 31.8 miEa|  10.0| 149 5.0 5.1 W 0.0
st 48| 106 -0.6] 2.8 wsw 0.0 37.4 ES20) 6.3] 12.2 1.1 5.1 w 0.0
G| 6.8 12.3 1.6 2.8 wsw 0.0 69.2 a 82| 136 3.1 5.1 W 0.0
FeEE/ // // // // // FeEE/ -1.8] -1.6] -2.3 0
BRI AR 10°CU LTEESE 21 BRI R 10°CU L TEESE 39
B4 Sua(°C) e - EE(m/s) 7k E(mm) AR B4 ZUa(C) A - EE(m/s) f% 7Kk & (mm) HE
Y &e | &E | F | &% | &KX | BAE | BE | B@ | B3t | 188 | 100 [ (h) T | &m | &E | | &% | &K | BAE | BE | BE | BF | IKE | 105 | (h)
11 10.6] 17.2 3.7 1.1 NE| 2.7 wNw| 45| wNw| 0.0l 0.0 00| 46 11 13.6] 188 89 3.3 wNw| 7.0 wNw| 87| wNw| 0.0 00| 00| 26
12 108 177 54 1.4 NNE| 53] NNw| 89 NNw| 00| 00 00| 73 12 13.8] 19.4[ 99| 3.9 wNnw 5.8 wNw| 102 Nw| 00| 00| 00 6.6
13 82| 16.9 1.3 1.3 sw| 45| ssw| 79 sw| 00| o00f o00f 84 13 11.4] 169 73 3.5 WNW 55| WNw| 7.7 WNw| 00| 00| 0.0 6.7
14 6.1 9.9 1.5 22| NNwW[ 6.2 NNw| 104 N 00| 00| 00 1.9 14 89| 122 55( 42l wNw| 85 wnw| 124 wNw| 0.0 00| 00 05
15 33 80| -05] 23 N 5.7 N| 11.8] wNw| 00| 0.0f 00| 85 15 6.4 10.0 3.9 6.3] wNw| 103 Nw| 13.9] Nw| 0.0 00| 00| 83
16 26| 96 -27 1.7 S 5.7 Nl 108 N 00| o0 00| 82 16 57 117 1.1 33| Nw| 7.6 wNw[ 127 wNw| 00| 00| 00 84
17 241 99| -3.0 1.4 sse| 3.7 wNw| 7.6 wNw| 00| 0.0[ 00 94 17 59| 11.3 1.1 3.2 WNW 6.2| wNw| 92 Nw| 00| 00| 00 85
18 31| 118 -a5] 11 Nw| 3.7 wnw| 7.6 wNw| 00| 00 00 6.1 18 77| 137 1.5 4.0 wNw 6.2 w[ 7.9 wNnw| 00| 00 00 6.4
19 6.0 10.7] -0.3 1.7 E| 47[ NNw| 84| Nw| 00| 00| 00 27 19 89| 123 47 3.6] WNW 65| wNw| 88 Nw| 00| 00 00 02
20 29| 111 -34 1.4 NNW| 3.4 wNw 6.5 wnw| 0.0 00| 00| 91 20 6.7 124] 10| 3.8 wNnw 6.0 wnw| 7.6 wnw| 00| 00 00| 85
FIESG) 78] 139 23 1.7 N 0.0 30.7 mrEa| 10.8| 155 7.1 42| wNw 0.0 24.7
st 34| 106 -2.8 1.5  Nw 0.0 35.5 ES20) 70 123 1.9 3.6/ WNW 0.0 32.0
a 56 12.3] -0.2 1.6 N 0.0 66.2 a 89| 139 45 3.9] WNW 0.0 56.7
FEE/ 20 -15] -24 0 124 FEE/ -1.6] 1.4 -16 0 105
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s |BHE 10°CUEEE SR 25
B4 SUR(°C) B\ - EsE(m/s) fE7Kk & (mm) HEg
Y | &e | &E | P | &% | &KX | Ao | BE | Be | BF [ 1§E | 105 | (h)

11 12.3] 188 6.8 1.1 NE 2.5 NE 3.9 NE 0.5 0.5 0.5 2.6

12 12.4] 194 6.4 1.4 NE 4.4 W 7.9 W 0.0 0.5 0.0 6.7

13 9.4 17.0 3.1 1.3 NE 3.1 SW 49| SSW 0.0 0.0 0.0 7.8

14 77 11.2 4.0 2.3 WNW 5.9 W| 11.9 W 0.0 0.0 0.0 1.1

15 5.1 9.8 0.1 1.8] WNW 5.1 WNW| 10.5| WNW 0.0 0.0 0.0 8.7

16 3.8 11.0] -2.6 1.8] WNW 5.6] WNW| 11.7] WNW 0.0 0.0 0.0 8.3

17 3.6] 115 -3.1 1.5| ENE 4.0 WSW 7.5] WSW 0.0 0.0 0.0 9.6

18 54| 138 -3.1 1.5 W 4.4 W 8.0 WSW 0.0 0.0 0.0 7.3

19 72| 122 0.8 1.1] WNW 3.9] WNW 8.9 WNW 0.0 0.0 0.0 2.1

20 49 129] -3.0 1.6 W 4.5 W 7.7 W 0.0 0.0 0.0 9.6

FIESG) 9.4 15.2 4.1 1.6 NE 0.5 26.9

®EaH 501 123] -2.2 1.5] WNW 0.0 36.9

A 7.2 138 0.9 1.5 NE 0.5 63.8

FEZE/LE -1.91 -12| -2.8 2 118

(5/5)
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BRIFT 2 B IR el HEZE e 20D
7k 2 (mm) &K E(mm) &K & (mm) &7k 2 (mm) &7k 2 (mm) &7k 2 (mm)
Aft aet | en BALE| &A10 s | s, BALE| &A10 e | s, BALE| &A10 e | s, BALE| &A10 e | s, BALE| &A10 e | s, BALE| &K10
fal Pali] fal Pali] fl Palt fl Palt fal Pali] fal Pali]
11 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
12 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
14 0.0 0.0 0.0 0.0 0.0 0.0 0.0) 0.0) 0.0) 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.5 0.5
15 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FHE/BK 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0 0.0 // 0.0 0.0 0.0 // 0.0 0.0 1.0 6 0.5 0.5
16 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
17 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
18 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
19 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
FHE/BK 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0 0.0 // 0.0 0.0 0.0 // 0.0 0.0 0.0 0 0.0 0.0
AE 0.0 // 0.0 0.0 0.0 // 0.0 // 1.0
G5 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 1.0 0.5 0.5
A 20 20 20 20 20 20 20 20 20 20 20 20 20 20 20 14 14 14
BRIFT% R EE R
[&7K & (mm) [&7k & (mm) F&7K 8 (mm) &7k & (mm) [&7K & (mm) &7k & (mm)
B{$ Az Ep BALEF| &A10 a: Tl BALEF| &A10 a: Tl BALEF| &A10 a: Tl BALEF| &A10 a: Tl BALEF| &A10 a: Tl BALEF| &A10
& Falb] = ] = Eal i Eal = Eal = Eal
11 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
12 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
13 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
14 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
15 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
HEAE/RAR 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0
16 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
17 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
18 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
19 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EAE/RKA 0.0 // 0.0 0.0 0.0 0 0.0 0.0 0.0 0 0.0 0.0
BJET 0.0 // 0.0 0 0.0 0
ATRK 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
A 20 20 20 20 20 20 20 20 20
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